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Selr &0 WRE HolEed &4 (Sl & &)

SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2

gZac=R 3NN 5,208,100 4,851,030 357,070

= 1,271,130 1,004,850 266,280

J| 108,000 108,000 0

< 341,480 282,080 59,400

Al 3,487,490 3,456,100 31,390

eEtdH HEEA FAIIB XA 2,181,072 1,846,812 334,260

= 609,530 343,250 266,280

< 112,200 52,800 59,400

Al 1,459,342 1,450,762 8,580

90 JHRE tHoI1Ed =4 1,610,740 1,276,480 334,260

= 609,530 343,250 266,280

< 112,200 52,800 59,400

Al 889,010 880,430 8,580

HANANEES ALY 636,000 492,000 144,000

= 318,000 120,000 198,000

< 95,400 36,000 59,400

Al 222,600 336,000 A 113,400

402 2I2tXE201 & 636,000 492,000 144,000

= 318,000 120,000 198,000

< 95,400 36,000 59,400

Al 222,600 336,000 A 113,400

01 AT AIEE X 636,000 492,000 144,000

O&FAHIAHA 2 XA 516,000,000& 516,000 372,000 144,000

= 258,000 60,000 198,000

=) 77,400 18,000 59,400

Al 180,600 294,000 A 113,400

ol & TsXHEotA 22 423,014 367,314 55,700

201 ¢er24| 287,964 232,264 55,700

01 AFR2t2lHl 281,528 225,828 55,700
OLSARI MYNY 4F ALUBS42

10,000& * 70CH 700 0 700

OOIMS XL AIAE 2= 5,000,000& 5,000 0 5,000

OIS ML &==X &It 273,108,000& 273,108 223,108 50,000

SIS A ESAHY 185,000 163,000 22,000

= 140,000 128,000 12,000

Al 45,000 35,000 10,000

402 2I2tXE201 & 134,000 112,000 22,000

= 124,000 112,000 12,000

Al 10,000 0 10,000

01 AT =AIEE X 134,000 112,000 22,000

oRIHEZE MIXNSX 2LH XA

106,000, 000& 106,000 84,000 22,000

= 96,000 84,000 12,000

Al 10,000 0 10,000

LEERX RIJIHI XA 112,560 0 112,560

= 56,280 0 56,280
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L= B

el

s BAFHY
NSAN HETA 2|8 X4
9D M| OB XA

SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hns2
Al 56,280 0 56,280
402 212t Xt=01 & 112,560 0 112,560
= 56,280 0 56,280
Al 56,280 0 56,280
01 2t TtEAEEx 112,560 0 112,560
OLFERX ZIIHI XJAY
1,608,000& = 70CH 112,560 0 112,560
= 56,280 0 56,280
Al 56,280 0 56,280
EAE HEZA FAIIBEH 2,491,423 2,489,423 2,000
= 661,600 661,600 0
Il 108,000 108,000 0
S 229,280 229,280 0
Al 1,492,543 1,490,543 2,000
HEHEAl 23X H 1,572,502 1,570,502 2,000
= 585,600 585,600 0
Jl 108,000 108,000 0
S 229,280 229,280 0
Al 649,622 647,622 2,000
Os - A2 E5gR =8 116,118 104,118 12,000
301 Zer2 4= 50,500 38,500 12,000
NJIEEd=s 27,000 15,000 12,000
ORdiorMsS=(0etll) ZEE243
30,000& = 9000tz 27,000 15,000 12,000
OrME=2 Ilofl 24 33,334 23,334 10,000
< 7,000 7,000 0
Al 26,334 16,334 10,000
301 LEE N 33,334 23,334 10,000
< 7,000 7,000 0
Al 26,334 16,334 10,000
NJIEEd=s 33,334 23,334 10,000
OOt sS=0l 28t moi2 4 33,334,000& 33,334 23,334 10,000
& 7,000 7,000 0
Al 26,334 16,334 10,000
MEHHwet M= EX 29,300 49,300 A20,000
S 28,600 28,600 0
Al 700 20,700 220,000
307 21201 & 0 20,000 A20,000
04 QIZHHALALH B = 0 20,000 A 20,000
OMEHHNBAHSEX &= ASZIHAIUE
0& 0 20,000 A20,000
P2 (22 e S22 M) 323,441 315,941 7,500
Jl=&dl 73,892 66,392 7,500
Jl234| 73,892 66,392 7,500




2A P22 SHFHY
H: HH2IAH (P22 S$FAZ )
¢l =gl (chel & 9l)
£ Y- HA(S) - NRMY - BES Ofl & oH JEH Hns2Z
405 XHoHF S HI 11,500 4,000 7,500
01 XY 2 ZFH S| 11,500 4,000 7,500
OANRE QX (ARX) 300,000& = 2504 7,500 0 7,500
WREs(stducler 330 212,164 198,854 13,310
RSN 97,164 83,854 13,310
gtet= JIE 97,164 83,854 13,310
802 BtEt= DI EF 97,164 83,854 13,310
01 =2n2x3eeE= 28,493 18,255 10,238
O&EAIA HAZH K& 10,200, 000& 10,200 0 10,200
OOrd== mott A OlRtete= 38,000 38 0 38
02 Al - EHIEXZSEHEZ 68,671 65,599 3,072
O&EAHAIA HAZH K& 3,060,000& 3,060 0 3,060
OOrd=s= mottZ A OlRtetEe = 12,000 12 0 12
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20169 =& 2 3| LBgH AYgEAHL BAIMY ~ VAFSSAHL
2A A2 HAFHY
FM: 9t RS HZEA HF X4
&l 365 MRE F= (9 ® =)
2A-F3H-H2A(3) - MY - BES Ofl & oH I & Hl w&z2
gZacE HEH 29,695,192 21,087,401 8,607,791
= 1,583,000 1,583,000 0
< 430,833 436,083 25,250
Al 27,681,359 19,068,318 8,613,041
S0 RS HEBEA EF =4 21,116,779 21,046,510 70,269
= 1,583,000 1,583,000 0
< 430,833 436,083 25,250
Al 19,102,946 19,027,427 75,519
365 MHRE H= 10,356,856 10,339, 356 17,500
MEMY Il el 7,805,054 7,787,554 17,500
201 L2l 105,366 95,366 10,000
01 At 22l 88,476 78,476 10,000
O2HIE MYl iz EE22 ME
10,000, 000& 10,000 0 10,000
301 L2 A F 105,600 98,100 7,500
09 HALAHIEA S 93,600 86,100 7,500
OZEZ SSMAM =AHE 4 63,500 59,000 4,500
OsXa 25,000& = 700A 17,500 15,000 2,500
os¥Xd 40,000& = 1,150A 46,000 44,000 2,000
OAIR SFZ2A =2 40,000 » 5% * 653l 13,000 10,000 3,000
HAE Sz Ity 8,213,642 8,161,833 51,809
= 31,000 31,000 0
< 68,000 73,250 25,250
Al 8,114,642 8,057,583 57,059
SAEF HII=2 Mol ¥ 2 7,300,008 7,230,699 69,309
201 LB-2gH| 252,311 246,461 5,850
01 At 22l 132,482 126,632 5,850
OSASTYM E2(SHNY S2UHAIH) 5,850 0 5,850
Ok Ry 50,0002 = 37JH 4 1,850 0 1,850
Ocl & 200& = 20,0000H 4,000 0 4,000
206 M= Hl 66,000 0 66,000
01 =8l 66,000 0 66,000
OosAsMYIIS HR(SEH SHEWXYA)
3,300& = 20,0004 66,000 0 66,000
301 L2 A= 37,162 39,703 AN2,541
11IIEEAS 37,162 39,703 AN2,541
OZ2sxH SASRHIIE Hel==2 =0
M Ea3 9363 * 66,171MICH = 5% » 12& 37,162 39,703 AN2,541
SABIYE =HE EXXNH 20,000 37,500 A 17,500
< 6,000 11,250 25,250
Al 14,000 26,250 A12,250
206 M= Hl 20,000 37,500 A 17,500




SN BZRRER UMD
Moot RS HBCEA FF X4
S9l: HXY da® JlptEy (el @ e)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
= 5,000 T, 250 75,050
Al 14,000 26,250 A 12,250
01 MZHl 20,000 37,500 A 17,500
OSABIHAINE SN
500,000 * 407H A 20,000 37,500 A 17,500
< 6,000 11,250 A5,250
Al 14,000 26,250 A 12,250
Hys HIlSAe 28,073 27,113 960
HIISMel AR E el 28,073 27,113 960
301 YA 960 0 960
11 JIEFE A2 960 0 960
OZAD BAZ MAS(ALHIIE H2IIE
Sl gt) 960,000 960 0 960
WEEIIEE R - ) 8,538,307 785 8,537,522
SHNE 4,861,217 785 4,860,432
U2 Il 4,861,217 785 4,860,432
802 Bt & 27| Ef 4,861,217 785 4,860,432
01 2R x3eE3 4,413,253 0 4,413,253
OFFA FALAANE SEMNY
4,084,060,6902 4,084,061 0 4,084,061
OFHINA HAR 2IAY 13,500,00084 13,500 0 13,500
OsZEHHIY HalAt 1,319,8002 1,320 0 1,320
OO0IXt B3 314,372 0 314,372
OBFH ZALANS ZHAY
313,275,000 313,275 0 313,275
OFQIIA HAZ 2ZAY 1,000,000 1,000 0 1,000
OsZHHIE HelAg 96,6109 o7 0 o7
02 Al - CHIZEZ &3 447,964 785 447,179
OFFA FALAANE SEAY
408,406,060 408,407 0 408,407
OFHINA HAR 2SAY 4,050,000 4,050 0 4,050
OEHRA HXIAY 5,197,000 5,197 0 5,197
OO0t B3 29,525 0 29,525
OHFH ZALANS ZHAY
28,825,000 28,825 0 28,825
OHQIIA HAX 2SI 500, 0002 500 0 500
OEBoRA SIAMY 200,000 200 0 200
LH = 1 2H Xl & 3,677,090 0 3,677,090
IBtEH S WE2 3,677,090 0 3,677,090
701 JIELSI HENES 3,677,090 0 3,677,090
01 MBS HAEES 3,677,090 0 3,677,090




148,440,000&

2N zH
A sS(eaAc=2sr NI
Ehel Heh Xl = (9 ® =)
CHH B (E) - NRAY - B S Ofl &t 2 I\ o HBE2

OEMETANLAMLEE HIISH2IAE X2

g3 528,650,000 528,650 528,650
EISAHSEEIINL) HIISH

, 3,148,440 3,148,440
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N & 0l & AF S E A A
20169 = =& 2 3] LB ALEHA BEAHAIHY ~ JHSEAEL
AN 3222 A 2el
M HIISES NEctsE &Ed ANE2Y
& =20 Syot= HII2 MelAld (Sl & &)
SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&
gZae=2F F el 23,213,041 23,469,520 A 256,479
= 1,250,000 1,250,000 0
Al 21,963,041 22,219,520 A 256,479
HIOI2S Ndstcts 28 ANE2Y 17,625,669 18,082, 148 N 456,479
= 1,250,000 1,250,000 0
Al 16,375,669 16,832, 148 A 456,479
=010] QtAlGt=E HIOI2 MelAl&d 17,156,972 17,638,572 A 481,600
= 1,250,000 1,250,000 0
Al 15,906,972 16,388,572 A 481,600
FFA ZAAL2AE 2e 5,252,948 5,233,148 19,800
207 RO ] 165,800 146,000 19,800
01 2339 165,800 146,000 19,800
OA2LHIE(AE) AIY 2HSE L e 2ot
of gt 23 89 19,800, 000& 19,800 0 19,800
SASFHIIS ANSAE 29 8,560,593 9,061,993 A 501,400
207 O] 19,600 10,000 9,600
01 289 19,600 10,000 9,600
ORJIIEHIIZ HUHXNSAE 238 & ES
9,600,000 9,600 0 9,600
307 glz2+ol & 7,223,073 7,734,073 A511,000
05 RIZt2E = 7,223,073 7,734,073 A511,000
OsAEFHIIE XMl 5,207,514 5,718,514 A511,000
OH=2Ll ™Meldl 140,000& * 5& = 365 255,500 766,500 A511,000
AU XER2 =24 2,500,000 2,500,000 0
= 1,250,000 1,250,000 0
Al 1,250,000 1,250,000 0
T AIEHI &R 2,108,488 2,500,000 A 391,512
= 1,054,244 1,250,000 A~ 195,756
Al 1,054,244 1,250,000 A 195,756
01 A& HI 2,108,488 2,498,000 A 389,512
oxEFuURXE2 =4 2,108,488,000& 2,108,488 2,498,000 A 389,512
= 1,054,244 1,249,000 A 194,756
Al 1,054,244 1,249,000 A 194,756
03 AlZ S THHI 0 2,000 A 2,000
ozEFUUHRXEZ =4 0& 0 2,000 A2,000
= 0 1,000 A 1,000
Al 0 1,000 A1,000
403 MHXHHSA=0l& 391,512 0 391,512
= 195,756 0 195,756
Al 195,756 0 195,756
02 I/ 2S0ICHEt A == OH & A H 391,512 0 391,512
OIS ZUUXEZ2 & 391,512,000& 391,512 0 391,512
= 195,756 0 195,756
Al 195,756 0 195,756
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S 0l & A H A A

20168 =& 2 3 L3

PN BAARZ2R ST
HH: HRES(SZ 2222 ot=F =)

ol BEXE (chel & 9l)
SA-ZH () - HRAY - BES Off &4 JEH Husz
gZ2e| 2% ot M 23,549,679 23,393,623 156,056

< 88,000 88,000 0

Al 23,461,679 23,305,623 156,056

HWees(sgdace: o33 1) 22,488,904 22,332,848 156,056
RSN 9,656 0 9,656
ExZerE 9,656 0 9,656
802 Btet= DI Et 9,656 0 9,656

02 Al - SHIEXZEHEZ 9,656 0 9,656
OXot+=E2X2=Y EX3A 9,656,000 9,656 0 9,656
HEHHKE 7,079,248 6,932,848 146,400
JIEISE3HEES 7,079,248 6,932,848 146,400
701 JIEtSI HEHES 7,079,248 6,932,848 146,400

01 JIEtSIHE &S 7,057,708 6,911,308 146,400
Oot==20 FHIAY 3,516,100, 000& 3,516,100 3,159,700 356,400
oHlE2Y EXEAL 239,880,000& 239,880 449,880 A210,000






